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Find Esmh '(sech x). SCORE: {3PTS
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Prove the derivative of coth ™' x. Do NOT use any other inverse hyperbolic functions in your proul.

SCORE: _ {5 PTS
You may use any of the other identities or derivatives of (nen-inverse) hyperboelie functions that were listed in vour textbook without proving
them. NOYTE: The Pythasorean-like identity for coth x must be proven if vou wish to use it

'llII = [:__L:-:—lv--j\'“_l b4

|_._:rIL‘\|'_#!_ : w\h'uh = |
= e s Ly < o ) 2 [ 4 \
cothy = X L A E-T"""j‘ - D =
[ B s — —_— | ! ey L -‘_ -“ LA > 3§ :‘_l_
.r'l _._E ‘-1' I‘-u_',-—-' L_ - — = d —_ﬂ-—
T“ ceth Y= X
O i ] > )

. "L
AN cath? Y ) = cschu
~ d 1) = e - )
—cschruy = |

___L;J o s X* — | =cscht L’J
_;Lk}_ _ L |
A~

he———




Using the dﬂ.hmimn of “uren under a function” given in class, write un algebraic capression for the area under SCORE: f3PTS

Jlx)y=wT Tr+ 2 over the interval [1, 4], Do NOT evaluate the expression. You do NOT need to draw a graph to explain your answer.
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Find lim ¢sch x. Do NOT use a graph. Give BRIEF algebraic or numerical reasoning. SCORE: {2 PTS
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Prove the logarithmic formula for sinh ' x

SCORE /4 PTS
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Lstimate the area under the function shown on the right over the interval [-3, 5]

using the right hand sum with 4 egual width subintervals.
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